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What is ENVIS ?

(A) Environment Impact State

(B) Environment Information System
(C) Environment Impact System

(D) None of these

The largest mangrove forest in the world is :
(A) Sundarban

(B) Pichavaram

(C) Ratnagiri

(D) Goa Mangroves

Bhitarkanika National Park is home of which
animal ?

(A) Hanuman Langur

(B) Gharial

(C) White Crocodile

(D) None of these

Pneumatophores are present in :
(A) Alpine forest

(B) Mangrove forest

(C) Both (A) and (B)

(D) None of these

Eutrophication in water bodies is due to :
(A) Increased microbes in water
(B) Increased pollution in water

(C) Increased chemicals
Nitrogen/Phosphorus

(D) None of these

containing

C-174

ENVIS &1 rcad € 2

(A) TAARRAHZ THTR W2

(B) TAATIRAHS SARIHYH faeed
(C) THaRTH e fawen

(D) T ¥ &E &

forger =1 ol wreT TG o1 ©
(A) HeTd

B) fu=meaEm

(C) Tl

(D) i i

e T 3 /e S &1 o
T2

(A) TIA AR

(B) =fgara

(C) 9%< shishlSTIc

(D) T ¥ ®E &

IHAER T 9T ¥
(A) ATursd 99
(B) g a9

(C) T (A) = (B)
(D) =78 ¥ % &

STt H GAST i RO T
(A) Gewsiar o1 Fe
(B) T g T S

(C) ATESISTH/BIERREIER AT T SE]

(D) 379 9 HIE 7T&

BR-810 P.T.O.



6.

8.

9.

Microbiome refers to :

(A) Genetic material of the entire collection
of micro-organisms in a specific niche

(B) Genetic material of all the members of
a family

(C) Genetic material of all the members of
a genus

(D) Genetic material of all the members of

a population

About what percentage of the Earth’s water

is available freshwater ?
(A) 70%

B) 9%

(C) 5%

(D) Less than 1%

Which one is often referred as ‘Lungs of
Earth’ ?

(A) Taiga Forest

(B) Congo Basin

(C) Amazon Forest

(D) Ozone Layer

Which technique is used for reducing total

dissolved solids in water ?
(A) Distillation

(B) Ion exchange

(C) Both (A) and (B)
(D) Osmosis
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10.

11.

12.

13.

14.

Which among the following is the largest
pool of carbon ?

(A) Rocks and mountains
(B) Forests

(C) Soil

(D) Ponds and Lakes

The radiant energy received on earth from
the sun is called :

(A) Albedo

(B) Refraction
(C) Insolation
(D) Radiation

United Nations Conference on the Human
Environment was held at :

(A) Stockholm
(B) Montreal
(C) London
(D) Los Angeles

The most dangerous gas for ozone layer is :
(A) CO

(B) CFCs

(C) SO,

(D) CH,

For which of the following reasons, it is
necessary to secure large area of forests ?

(A) More Rain

(B) Wildlife conservation
(C) Ecological balance
(D) Absorption of CO,
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15.

16.

17.

Convention on Biological Diversity is also
denoted by :

(A) COP 10
(B) COP 11
(C) COP 12
(D) COP 15

What makes Carbon monoxide a fatal gas ?

(A) It dissolves in blood plasma and
spreads toxicity

(B) It competes with Haemoglobin for
oxygen intake.

(C) It converts into carbon dioxide in
presence of water in blood

(D) It dissolves in cytoplasm and functions
as an inhibitor of enzymes for

matabolism

A rabbit is swallowed by a snake, which in
turn by a falcon. What is the position of
snake in this food chain ?

(A) Producer
(B) Primary Consumer
(C) Secondary Consumer

(D) Tertiary Consumer

18. Which of the following is true about ‘Alpha

diversity’ ?

(A) It is the species diversity within a
specified habitat

(B) It is the diversity between two
communities

(C) It is the diversity among two or more
ecological communities

(D) None of these
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19.

20.

21.

22,

The study of the interactions among a
collection of species that inhabit the same
geographic area is called :

(A) Ecosystem Ecology

(B) Community Ecology

(C) Population Ecology

(D) None of these

The food chain in which the micro-organisms
feed by decomposing the organic matter is
called :

(A) Primary food chain
(B) Secondary food chain
(C) Detritus food chain
(D) None of these

Which of the following is affected by
Mercury ?

(A) Intestine

(B) Lung

(C) Heart

(D) Nervous system

Where is the secretariat of the conference
on Biological Diversity ?

(A) Italy

(B) Toronto

(C) Montreal

(D) London
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23.

24.

25.

26.

27.

Which among the following is a secondary
air pollutant ?

(A) CO
(B) NO,
(C) O,

(D) PAN

Who was the first scientist to coin the term
SMOG and to describe the layers of smog ?
(A) Nikola Tesla

(B) Dr. Henry Antoine

(C) Stephen Hawking

(D) Nicolaus Copernicus

The biggest source of pollution in the world
is:

(A) Automobile laxity

(B) Sewage and garbage

(C) Herbicide and insecticide

(D) Industrial tributaries

The first “World Environment Day’ was held
in year :

(A) 1971

(B) 1974

(C) 1976

(D) 1978

The largest ecosystem of the Earth is :
(A) Desert

(B) Grassland

(C) Marine

(D) Mountain
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28. In a coal fired power plant, electrostatic
precipitators are installed to control the
emission of :

(A) CO
(B) NO,
(C) SPM
(D) SO,

29. The soil conservation method in the coastal
and dry regions where rows of trees are
planted to check the wind movement to
protect soil cover is called :

(A) Mulching

(B) Rock dam

(C) Contour barriers
(D) Shelter belts

30. When was the WWF founded ?
(A) 1951
(B) 1961
(C) 1971
(D) 1981

31. The world’s largest biofuel is located in :
(A) Brazil
(B) China
(C) Ethiopia
(D) U.S.A.

32. Stockholm convention makes it mandatory
for the signatories to phase out the use of :

(A) Mercury

(B) Endosulfan

(C) Hydrofluorocarbons
(D) Microbeads
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33.

34.

3S.

36.

37.

India is the third largest consumer of energy

in the world after :

(A) China and U.S.A.
(B) China and U.K.
(C) China and Japan
(D) China and Australia

Pure biodiesel does not emit which pollutant :
(A) NO,

B) SO,

(C) CO

(D) PM

Which of the following is not a biofuel ?
(A) Ethanol

(B) Methanol

(C) Butanol

(D) Natural gas

World Biofuel Day is observed every year

on:

(A) 10 January
(B) 10 April

(C) 10 August

(D) 10 November

When the waste of one industry is used as
the raw material, such economy is called :
(A) Broken economy

(B) Circular economy

(C) Linear economy

(D) Negative economy
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38.

39.

40.

41.

42.

International Tiger Day is celebrated every
year on :

(A) 29 July
(B) 28 July
(C) 29 August
(D) 28 August

Which subspecies of Tiger is found in
maximum number of countries ?

(A) Indo-China Tiger
(B) Siberian Tiger
(C) South-China Tiger
(D) Sumatran Tiger

Which of the following rivers flows out from
the famous spring Verinag ?

(A) Indus
(B) Tawi
(C) Beas
(D) Jhelum

Kashmir stag (Hangul) is :
(A) Endemic

(B) Ceritically endangered
(C) Both (A) and (B)
(D) None of these

How many biogeographic zones are there
in India ?

A) 4

(B) 10

(©) 15

(D) 20
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43.

44.

45.

46.

47.

Who is known as the ‘Bird Man of India’ ?
(A) SalimAli

(B) Baba Amte

(C) V.J.Joseph

(D) Pandurang Hegde

Of all the species on Earth, approximately

what percentage have we identified ?
(A) 60
B) 50
(©) 20
(D) 10

Who is the author of famous book ‘Silent
Spring’ ?

(A) Al Gore

(B) Medha Patkar

(C) Rachel Carson

(D) Wangari Mathai

Which among the following countries has the
highest Biodiversity ?

(A) Brazil

(B) South Africa

(C) India

(D) Russia

Which Act is also known as ‘Umbrella
Act’ ?

(A) Environment Protection Act, 1986
(B) Forest Conservation Act, 1980

(C) Wildlife Protection Act, 1972

(D) None of these
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48.

49.

50.

S1.

52.

Who gave the idea for celebrating Earth
Day ?

(A) Al Gore

(B) Gaylord Nelson

(C) Wangari Mathai

(D) None of these

How many National Parks are there in
Rajasthan ?

(A) 3

(B) 4

© 5

D) 6

Which lake was designated as the first Indian
wetland of International importance in 1981
under the Ramsar Convention ?

(A) Wular

(B) Chilka

(C) Chandra Tal

(D) Bhitarkanika Mangroves

Total number of Biosphere Reserves in
Rajasthan is :

(A) 3
(B) 4
©) 5
(D) Zero

World Sparrow Day is observed on :
(A) 20 March

(B) 20 April

(C) 20 February

(D) 22 April
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53.

54.

SS.

56.

57.

Who started Van Mahotsav in India ?
(A) Indira Gandhi

(B) K.M. Munshi

(C) Baba Amte

(D) Medha Patkar

Which of the following is not a UNESCO

World Heritage Site ?

(A) Western Ghats

(B) Kaziranga National Park

(C) Rajaji National Park

(D) Nanda Devi and Valley of Flowers
National Park

Largest Mountain Goat in the World is :
(A) Markhor

(B) Himalayan Serow

(C) Siberian Ibex

(D) Chinese Goral

Who is known as the Green Advocate of
India ?

(A) Soli Sorabjee

(B) Vrinda Grover

(C) Kuldeep Singh

(D) M.C. Mehta

Which is the first Biosphere Reserve in
India ?

(A) Norkek Biosphere Reserve

(B) Nilgiri Biosphere Reserve

(C) Nanda Devi Biosphere Reserve

(D) Gulf of Mannar
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58.

59.

60.

61.

62.

When is wildlife week celebrated in India ?
(A) 1Julyto 7 July

(B) 1 Augustto 7 August

(C) 1 October to 7 October

(D) None of these

Which state is India’s first fully organic
farming state ?

(A) Manipur

(B) Kerala

(C) Sikkim

(D) Andhra Pradesh

Of all the mammals on Earth what
percentage are wild ?

(A) 4

(B) 14

(C) 24

(D) 44

Which is currently the most trafficked
mammal in the world ?

(A) Lemur

(B) Leopard

(C) Pangolin

(D) Great Ape

Bengaluru

(B) Centre for Sociology and Economics,
Delhi

(C) Centre for Science and Environment,
Delhi

(D) Centre for Society and Environment,
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63.

64.

6S.

66.

67.

Which of the following is an extinct species ?
(A) Dodo

(B) Dugong

(C) RedPanda

(D) Great Indian Bustard

May, 22 is observed as :
(A) Ozone day

(B) Wildlife day

(C) Wetland day

(D) Biodiversity day

Western Ghats are very rich in endemic

species of :
(A) Bird

(B) Turtle
(C) Lion

(D) Amphibian

Ecomark of our country is :
(A) Earthern Lamp

(B) Earthern Saucer

(C) Earthern Pot

(D) Earthern Mug

Rajendra Singh of “Tarun Bharat Sangh’ was
awarded Magsaysay Award for his work

on:
(A) Soil Pollution

(B) Water Conservation
(C) Social forestry

(D) Clean Technology
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68.

69.

70.

71.

72.

Nobel Peace Prize of 2004 in the field of
sustainable development, democracy and
peace was awarded to :

(A) R.K.Pachauri
(B) Wangari Mathai
(C) Al Gore

(D) C.V.Raman

CNG comes under the category of :
(A) Petroleum

(B) Natural gas

(C) Nuclear energy

(D) Geothermal energy

Chemical or agent causing cancer is called
as:

(A) Carcinogen

(B) Mutagen

(C) Teratogen

(D) None of these

According to waste segregation rules the
green colour dustbins are used for :

(A) Domestic and paper waste
(B) Domestic and plastic waste
(C) Degradable waste

(D) Non-degradable waste

Organic farming is :

(A) Farming without chemicals

(B) Promoting soil microbe activity
(C) Increasing soil fertility

(D) All of these
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73.

74.

75.

76.

77.

The main impact of urbanization on plant and
animal is :

(A) Loss of species

(B) Mutation of species

(C) Increase species

(D) None of these

Environment protection is the responsibility
of:

(A) Government
(B) NGO

(C) Individual
(D) All of these

Air pollution can be controlled by using :
(A) Wet scrubber

(B) Cyclone separator

(C) Electrostatic precipitator

(D) All of these

Which of the following is not a greenhouse
gas (GHG) ?

(A) Hydrogen

(B) Water Vapour

(C) Carbon monoxide

(D) Sulphur dioxide

Where does Coniferous forest grow in
India ?

(A) South India

(B) Himalaya region

(C) Eastern Ghat

(D) Western Ghat
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78. The unit to measure Earthquake is :
(A) Decibel
(B) Horse Power
(C) Richter scale
(D) Joule/kg

79. E-waste refers to :
(A) Ecological waste
(B) Electronic waste
(C) Environmental waste

(D) Biological waste

80. Which of the following is an example of Fx-

situ conservation of biodiversity ?
(A) Sanctuary

(B) National Park

(C) Biosphere Reservoir

(D) Gene Bank

81. The pollution free energy source is :
(A) Atomic
(B) Solar
(C) Coal
(D) Petroleum

82. Rainwater harvesting has advantage :
(A) Recharge groundwater
(B) Reduced runoft loss
(C) Avoid flooding on road
(D) All of these
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83.

84.

8S.

86.

Declaration of Human Rights and

Environment was drafted by the United

Nation at :

(A) Stockholm
(B) Johannesberg
(C) Geneva

(D) Rio de Janeiro

Deforestation may reduce the chances of :
(A) Rainfall

(B) Frequent cyclone

(C) Frequent landslide

(D) Surface soil erosion

.................... is the forest cover to be
maintained as per the National Forest Policy
(1988).

(A) 37% for hills and 11% for plains

(B) 67% for hills and 33% for plains

(C) 17% for hills and 23% for plains

(D) None of these

The protection and conservation of species

in their natural habitat is called :
(A) In-situ Conservation

(B) Ex-situ Conservation

(C) Oftsite Conservation

(D) No Conservation
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87.

88.

89.

90.

91.

Sacred groves are useful in :

(A) Spreading environmental Awareness

(B) Preventing flow of water in river

(C) Conserving endangered and rare
species

(D) None of these

What is the full form of WHO ?
(A) World Health Organisation
(B) World Healths Organisation
(C) World Healthy Organisation
(D) Word Health Organisation

Identification of plants is important for :
(A) Study

(B) Collection

(C) Research

(D) All of these

Biodiversity is ......c..c.......
(A) Increasing
(B) Flourishing
(C) Declining

(D) None of these

GLOBE stands for :

(A) Global Leading Occupations to Benefit
the Environment

(B) General Learning and Observations to
Benefit the Environment

(C) Global Learning and Observations to
Benefit the Environment

(D) Global Leaders and their Observations
to Benefit the Environment
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92.

93.

94.

9s.

Blue Baby Syndrome is caused by :
(A) Mercury

(B) Cadmium

(C) Fluoride

(D) Nitrate

Which device is used to measure the
atmospheric humidity ?

(A) Photometer

(B) Hygrometer

(C) Auxanometer

(D) None of these

The dominant source of pollution due to
oxides of Nitrogen in urban areas is :

(A) Road Transport

(B) Power Plants

(C) Commercial Sector

(D) Use of Energy in Industry

The most dominant source of Benzene
emissions in atmosphere is :

(A) Cement Industry

(B) Cigarettes

(C) Car Exhausts

(D) Paints and Varnish

C-174

(22)

92.

93.

94.

9s.

=] St fagm forgs FRu dar e 2
(A) FHR

(B) Hefaam

(C) wiRES

(D) gz

TohE YT T ITAN AGHSEAE STEdl
AT & fere foman s & 2

(A) <iftqaTdt

(B) ST

(C) AT

(D) 3 & *FE T

Tl &5 H e feEEe ¥ BN A
U T T B T

(A) e TReR

(B) forstett s

(C) arforfaer &t

(D) SR H Sl 1 ITAM

RSt a1y § SIS IS S Tl TS
AR

(A) HiHe e

(B) famz=

(C) R =1 fahm

(D) Te & afe

BR-810



96. The crushing and grinding of solid waste is
called :

(A) Composting
(B) Pulverization
(C) Landfills
(D) Shredding

97. The cause of Melanornia (skin cancer) is :
(A) Acidrain
(B) Allergen
(C) Ozone depletion
(D) None of these

98. Ganga Action Plan was launched in :
(A) 1985
(B) 1986
(C) 1987
(D) 1988

99. Slums in Metro city are the result of :
(A) Lack of urban infrastructure
(B) Urban governance
(C) Poverty of the city scape

(D) Rural to urban migration

100. Which one is an appropriate option for
natural hazard mitigation ?
(A) International Aid
(B) Timely Warning System
(C) Rehabilitation
(D) Community Participation
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